
 

 

 

 

 

 (1) 1.0 m3   9.0 (g/cm2) 106 cm2  9.0 106 g 

 6.0 1023
 9.0×106 

 64 
  8.4 1028  

 

 

(2) 𝐼  𝑒𝑛𝑣𝑆  

1.0 (A)  1.6 10−19(C)  6.0 1023
 9.0×106 

 64 
( /m3)  𝑣(m/s)  1.0 10−6m2 

 

𝑣  7.4 10−5 m/s 

 

 

0℃  𝜌0 (Ω m)  𝑙  𝑆  

0℃  𝑅0   𝜌0
 𝑙 
 𝑆 

 

𝑡 (℃)  𝑅  𝜌0(1 + 𝛼𝑡)
 𝑙 
 𝑆 

   𝑅0(1 + 𝛼𝑡) 

 

 

 

 

 

 

 

 

 

 



 𝑅  

 1 

 𝑅 
  

 1 

 6.0 
 + 

 1 

 3.0 
 

 

𝑅  2.0 Ω 

 

  
 9.0 

 2.0 
  4.5 A 

 

2  𝑟  

 1 

 𝑟 
  

 1 

 3.0 
 + 

 1 

 3.0 
 

 

𝑟  1.5 Ω 

 

 𝑅  1.5 + 3.0  4.5 Ω 

 

  
 9.0 

 4.5 
  2.0 A 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 𝑉  𝐼  

𝐸  𝑅𝐼 + 𝑉 

 
 𝐸 

 2𝑅 
  

 

 

 

 𝑉  𝐼  

 𝐼0  
 𝑉 

 𝑅 
 + 𝐼 

 
 𝑅𝐼0 

 2 
  

 
 𝐼0 

 2 
  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 𝐸  𝑟  

𝑅  𝑉     𝐸  𝑟𝐼 

 

𝐸  1.4 V 

𝑟  20 Ω 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

0.2 Ω  

 

 

9.0 Ω  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

10 10−3(A)  1.5 V  60 5 s  4.5 J 

 

 

10 A  100 V  42 s  
 90 

 100 
  100 g  4.2 J/g K  𝛥𝑇  

 

𝛥𝑇  90℃ 

 

 

  100 V  0.60 A  60 W 

 

  60 W  60 s  3.6 103J 

 

 

1 kWh  103J/s  60 60 s  3.6 106J 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2  

12  10 𝐼1  45( 𝐼1  𝐼2 ) 

6.0  30 𝐼2  45( 𝐼1  𝐼2 ) 

2  

 𝐼1  0.30 A  𝐼2  0.10 A  𝐼1  𝐼2  0.20 A 

30  

 

 

 

 

 

 

 

 

 

 

 

 

 

10 Ω    12 V 

30 Ω     6.0 V 

45 Ω 𝑰𝟏 

𝑰𝟏 𝑰𝟐 

𝑰𝟐 



 

 

 

 

 

 

 

 

 

2  

2.0  0.20 𝐼1  4.0( 𝐼1  𝐼2 ) 

1.5  1.0 𝐼2  4.0( 𝐼1  𝐼2 ) 

2  

 𝐼1  0.80 A  𝐼2  0.34 A  𝐼1  𝐼2  0.46 A 

1.0  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

0.20 Ω   2.0 V 

1.0 Ω    1.5 V 

4.0 Ω  

𝑰𝟏 

𝑰𝟏 𝑰𝟐 

𝑰𝟐 



 

 

 

 

 

 𝑅  

 1 

 20 
  

 3 

 𝑅 
 

 

𝑅  60 Ω 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

0  

 𝑅     
 𝑉 

 𝑅 
 

 2𝑅   0 

 

 
 𝑉 

 3 
 2  

 

 

 

 

 

 

 

 

 

 

 

𝑉  𝑅( 𝐼1  𝐼2 )  2𝑅𝐼1 

 𝑉 

 3 
  2𝑅𝐼1 

 

 𝐼1  
 𝑉 

 6𝑅 
 𝐼2  

 𝑉 

 2𝑅 
   𝐼1  𝐼2  

 2𝑉 

 3𝑅 
 

 

 

 

 

 

𝑉  

𝑅  

2𝑅  

𝑰𝟏 

𝑰𝟏 𝑰𝟐 

𝑰𝟐 



 

 𝑅   2𝑅   
 𝑉 

 3𝑅 
 

  0 

 


